Economics IV

Factor markets

Section 1: Explain why the following statements are true or false

1. A profit maximizing firm will hire inputs such as labor and capital until the marginal product of those inputs is zero.

2. The output effect is part of the effect of a change in the wage rate on the demand for labor.

3. The more difficult is it to substitute one input for another, the flatter will be the isoquants of the production function.

4. An individual who values leisure a lot will tend to have indifference curves that look more horizontal than vertical.

5. An upward sloping supply curve for labor means that the individual considers leisure to be an inferior good.

6. The existence of a non-labor income will reduce the number of hours worked by all individuals in the labor market.

7. A tax on labor will reduce the number of hours that individuals want to work.

8. When the government introduces a minimum income without changing the wage rate for those who do choose to work, only individuals who previously fell below the minimum income will stop working.

Section 2:  Solve the following

1. Assume that the quantity of envelopes licked per hour by Sticky Gums, Inc., is Q=10,000(L)^(1/2), where L is the number of laborers hired per hour by the firm.  Assume that the envelope-licking business is perfectly competitive with a market price of $.01 per envelope.

a. How much labor would be hired at a competitive wage of $10?  $5?  $2?  Use your results to sketch a demand curve for labor.

b. Assume that Sticky Gums hires its labor at an hourly wage rate of $10.  What quantity of envelopes will be licked when the price of an envelope is $.10, $.05, and $.02?  Use your results to sketch a supply curve for licked envelopes.

2. Michael has a utility function of U=(CH)^(1/2) and is maximizing his utility at U=20 when he works 14 hours a day.  Would he be willing to give up an hour of his leisure to drive his elderly neighbor to the cinema if she offered him $5?

3. “Our Grass is Greener”, S.A. de C.V. (OGG), is a small lawn mowing company.  The mowing (cutting) of grass requires two inputs: gardeners (labor) and lawn mowers (physical capital).  The factors must be used in fixed proportions of one gardener to one lawn mower.  Each gardener and lawn mower together can produce one unit of the product, a mowed lawn, in one hour.  Production exhibits constant returns to scale.  Suppose that the competitive wage rate for gardeners is $2 per hour and rental rate on lawn mowers is $5 per hour.

a. Graph the isoquants of production for OGG.

b. Holding the quantity of production constant, what would be OGG’s wage elasticity of demand for labor, 
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c. What proportion of the costs for each mowed lawn does OGG spend on labor?

d. Now without holding the quantity of production constant, write down and explain the general expression for 
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.  Can you express this in terms of elasticities?

e. Assuming that the price elasticity of demand for mowed lawns is –2, and that OGG is one of many identical perfectly competitive firms, calculate 
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.  Explain whether the output effect that is part of your calculation is a short run or long run effect for the industry.
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